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405
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450 0 450|101 KAt 2 Z 3 =y)
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o XAl BIRA HAOIEQ
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- &S0l 636,750&x100% = 637
- Xt 25,4703 x1Ex158 = 383

_16_




& Mgt (1241) 8 & 2t e MIAIE : (110)0121d] e &)
= Hl iml
At Il =
CAIE L AlAlE & N E VAN
- FrxE 25,4703 x1¥x52 1,325
- AN2HRI2RE 3,640 x 1B x22A1 2tx12&x1.5 = 1,442
- Ws2 x| 30,000&x1&¥x 128 360
- ESY 30,0003 x1&Ex 128 360
- XS4 80,000&x1Ex12& 960
o EQR JIZHAEYS
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- HEFEIIH SHE SFEXAN 2 A
5,0002 x17Ex102 x23] = 1,700
o9 A& EH S XY
- ®AD|D| XIS 1,200,000x128 = 14,400
- DET2ED| SX22EL 380,000 %128 = 4,560
202
011l 56,320 47,320 9,000
56,320 47,320 9,000(01 2Li04H
oZQRYUP =X 10,0002 x24%Hx8LUx 128 = 23,040
oEMIE - T HEG, NUMNEIIDS &0
40,0002 x7 x4 x23| = 2,240
oMM NS Y 3o EHANU|
40,0002 x5% x4 x4 3] = 3,200
ST HIEY DA TAH 40,000 x7E x4 %63 = 6,720
SAMEE DAHXE ZAGH
40,0002 x4 9 x4 2 x63 = 3,840




Z:(1000) e B B (1250) W& 22 AIE: (1251) M B 2t HIAIE: (120) 2 A= b Ero: E ]
. < m
= ! - A & x
T2 A HE AN %5 A2
STHAAIZ S MR ZE A
40,0002 x4 2 x4 x63! 3,840
oL BHXR FAOI|
40,0002 x3% x4 x63! 2,880
CUESY BHKR FAOIH|
40,0002 x3% x4 x63! 2,880
oS Y N2 EAOH|
40,0002 x5 x4 x63] 4,800
SRR A E40b] 40,0002 x3% x4 x63] 2,880
203
R Ez 4,200 3,600 600
4,200 3,600 60004 SN 2HALF A
oRNRY YLFIH(BA:27Y)
350,0002x 128 4,200
204
NRLH 28,800 26,400 2,400
b
28,800 26,400 2,400/03 SEYR+HS S|
cHLALL+d FsH| 100,000 x24%x 128 = 28,800
200
AFEL Ol 4,200 3,100 1,100
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Z+:(1000) & BHEH E &t (1250) M E &el Mg (1251) M & 2t el NIAIEE: (220) XERI AL [SRE] [ HH]
o " = mi
Of &b R 1l - At = =
2 8t NIE . MAlE Ak of s A &
220
KEMIAHS 4,200 3,100 1,100
4,200 3,100 1,100
4,200 3,100 1,100 MRS EFHSHI
CEMMNEIN(HASX EHE) 2
2,200,000 x1CH = 2,200
Z2IED 2Y 2,000,000&x1CH = 2,000
1252
=2t 133,389 130,014 3,375
100
Z a0l & 133,389 130,014 3,375
110
erdl 5,454 5,195 259
5,454 5,195 259
5,454 5,195 259110 ZAIAIG IR Y
oXAM f2EA € N2FHelE2X ¢RY
30,3003 x1E x602 x33] = 5,454
120
& X A 127,935 124,819 3,116
201
Lot 84,674 83,728 946
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Z:(1000)QBHE A HI  BH:(1200) Bt H bl 3 (1250) B 22 M (1252) 5 22l M8 (120) 2 &= b (22 (o9 He]
2 = S i)
of &b o o 2 ol =
B MHNE MY = of & ¥ = A
=yl 1,72081x1,00024x 128 = 20,640
=6.2 2|
- aEH2l ¥ A2 ORI22A B4
5,0002 x32x202 x83! = 2,400
- Mg gRE=l 2 Hel oRI22X 4
5,00081x5%x 102 x 122 = 3,000
=9. A€ ZHIK At
- EHIEZ3I| RNES 21,920,0009/x8/100 = 1,754
301
SIEIE P 18,261 16,001 2,170
18,261 16,091 2,170/09 BU22QAL A3
cZADRQAANREX)
- 0123 55,6602 x7Zx 128 = 4,676
- A3 4,676,00081x2/12 = 780
- A 4,00080x7Yx222x 128 = 7.392
- DS 1,8008Ix7Ex22Ux 128 = 3,327
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& :(1000) L ErE Y (1200) & (1250) M & 22 AIgt: (1252) & +=2 e MIAIE: (120) 2 &t = FH [SRE][e2:3H]
2t = " = ul i
Ab oM - At = Il =
2 g NE L MAE &b oM s A&
U=l
oF= 130,000&x78x2& = 1,820
- 2% 5,000&x7&8 = 35
- U 3,000&x7&E = 21
- CHAg=2d 15,000&x7Ex2g = 210
303
Za3 25,000 25,000 OloXZM M E+=2a=
-7 & 300,000,000&x5/100 = 15,000
S8s 200,000,000&x5/100 = 10,000
1253
A 2t 333,195 345,872 N12,677
100
S0 A 226,549 171,333 55,216
120
daH 3| 226,549 171,333 55,216
201
eot2d 222,799 168,554 54,245
222,799 168,554 54,245 2et23l
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Z:(1000) LEFSTHI B+ (1200) LB H | B (1250) W & 22| A8t (1253) 31 3 22l HIKIES: (120) 2 4 = 24 b EREG R
2 = & 49 = | g im|
off A o o 2 ol =
T2 NE AANE = o A W= oA
- 3|2 DIEH S| 7,200,0008 = 7,200
- FolotE B AL 200,000 x128 = 2,400
- HLAYHY UYL4E 2,000,0002x14! = 2,000
- ANYE 0B84 4E 20,0002 %4002 = 8,000
=3.22232 ¥ HAl
- @2 6,000,0002x128 = 72,000
- MotaERE 550,0008x128 = 6,600
- X A MM3UB
&8 810,000&x40} = 3,240
=5 663,000 x40} = 2,652
ste 650,000/ X908 = 5,850
- BFERE3
Alge 400,0002x23] = 800
22 1t 50,0008 x 16CHx23] = 1,600
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T (1000) L PSR H| B (1200) 2 EH HH| 51 (1250) K & 22| Mg (1253) 813 22l KIAIEE: (120) 3 &= 2 b [2rE](ce:de]
o = S R im)
of & o AF 2 ol =
.2 HIE A = Of & M = oA 2
- AYOIEE S| 100,0008x13] = 100
- NSERYFH3 350%x5,675M x0.82x50/100 = 815
o5. 1 =4
- RN 22= 1300002 x8&x13] = 1,040
=6.Z 2|
- ANBYNEHL L ALHARY 22X S4
5,00021 x5 x 102 x5 = 1,250
- BAR)| AR ORAILSX S
5,0002 x5 x 102 x53] = 1,250
=8. 0124
- H2(0H) 8942x0.9 £ XBAI2X95LXTLH = 4,281
- 22D 8942x20 4 x952x10CH = 16,986
- 297
4,6642 xBAI 2+x952 x 17,000k / 100, 000k x2 CH = 1,206
©9. A€ ZHIS b
- A2 KL 4,22095,675m = 23,960
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& (1250) & 22l MIgt: (1253) 3 Hl2tel HIAIE: (120) 3 &= F | [ERF][ce &3]
Ll ® g = ) N = ) =
B E MIE L HIAE of A % =z oA 2
- JIEFAIE S X2 =t 4,680,000& = 4,680
<10, Xr&FA ehy|
- 58(38) 4,240,000&x20H = 8,480
- 58(XZ) 3,757,000&x3CH = 11,271
- Ex=xt 2,886,000&x3CH = 8,658
- 32(4AE) 2,974,000&x506 = 14,870
- 3I2(58) 4,202,000&x10H = 4,202
- 2E(FE) 2,714,0002x10H = 2,714
- S8(4AE) 2,347,000&x20H = 4,694
301
AHtg A 2 3,750 2,779 971
2,610 2,299 311|109 SLZRRIABAZ
CBAUADLRRA(ANREX)
-Jlas 55,6603 x18x128 = 668
- a3 668,000&x2/12 = 112
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Z:(1000)QBHE A HI  BH:(1200) Bt H bl 31 (1250) B 22| Mg (1253) 813 22l M8 (120) 2 &= b (22 (o9 He]
2 = S i)
of &b o o 2 ol =
BLHE NN = of & ¥ = A
- B4 4,0002x1Yx22Lx 128 = 1,056
- DEY| 1,8008Ix1Ex22Yx128 = 476
- o=l
28 130,0008x19x25 = 260
A=pT 5,0008x19 = 5
x=qv 3,0008x19 = 3
- SEe gaEw 15,0002 x12%x2 = 30
1,140 480 66010 BHAFAIHI2 &3
cZU2FIIA MSUE &IIHES0id]
40,0002 x8% x2L = 640
CHANESALSY X SAMS
5,0002x 1002 = 500
200
AR O] &t 106,646 174,539 167,893
220
ALY 106,646 174,539 67,893
206
L] 500 0 500 eFAAYES UL 500,00024 14! 500
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(1200) 2 BH 84 & | 8 (1250) & 2 Higt: (1253) 5] H 22l I HIEE: (220) X & AL S R ERE-E=)
= w&%@egm Il N = ) ~
KB KIA & = o & M| = A %
405
NESE e 106, 146 64,539 41,607
106, 146 64,539 41,607 |01 XML S EF SHI
oL ZHIE Wil
- SRHEAE) 91,3502Ix150H = 1,371
- HA(ES) 135,000 x 1008 = 1,350
- (L) 185,000 x50 = 925
- HHI 120,00024x500 = 600
o&Ma(10E) P 900,000 x 104 = 900
ongx 7Y
-JlRsSE4E [ 75,000,000&x10H = 75,000
- gesis(sY) 26,000,00024x10H = 26,000
11,439,230 11,168,745 270,485
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